Sr Questions Answers Choice

. 1450 MW
. 1451 MW
1452 WM
1453 WM

1 The Ghazi Brotha hydro power project has a generating capacity of.

3 million hectares
. 4 million hectares
5 million hectares
. 9 million hectares

2 About ..... of agriculturla land contains rain fed cultivation.

200 mm
250 mm
300mm
350 mm

3 In 90% of Pakistan, the average annual rainfall is less tha.

. 6 billion hectares
. 7 billion hectares
8 billion hectares
9 billon hectares

4 At persent, the country has about....... of cultivable land.

35%
60%
40%
45%

5 Agricultural and its products contribute in the country's export.

18%
19%
20%
25%

6 The share of agriculture sector in the GDP is.

35%
40%
55%
60%

7 About .......... of our rural population is directly or indirectly involved int he agricultural sector.

35%
40%
55%
60%

8 About .......... of our rural population is directly or indirectly involved int he agricultural sector.
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A. 35%
B. 40%
C. 55%
D. 60%

9 About .......... of our rural population is directly or indirectly involved int he agricultural sector.

A 40%
B. 45%
C.30%
D. 35%

10 Narlay about...... work force is engaged in agriculture.



